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(b) From the following forecast of income and expénditurc T s e e EREAES Fre st
Prepare a Cash Budget for the months of June, July i fom @
and August commencin : : h
Iy g 1st June with an opening ¢a 10000
balance of Rs. 80,000 80,000 41,000 5600 3,900 i
' ; 86,500 40500 SA0 4200 14000
M (inRs.)
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T 88500 38500 5400 4100 i
TR 82000 37000 4800 390 17,000
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August ::ﬁg 0 4m0 3900 17,000 * 65,000 To i B HI SR % gl e
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Sales commission of 5g; 5 gye two months A1 . Rar s R fo &
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Machmely worth Rs. 65,000 will be Purchased i ﬁﬂ'q W @' ’cﬁ’ A8 aﬁ THR . a
; ;ugUSt; : i 3 YRR & A @7 SR gafer & & g i
ividend of Rs.15.00 jal ¥° * : : ICEE
{ -15,000 for the last financ! TERGT AR PRIGIEEI
will be paid in Jypy. | IEGRR, Gl 5,10
* 20% of ’ ' cred” I e Ry ¥
: the sales are on cash basis and fOr of )
sales the' customers are aliowed a credit PE” (@) Bxpla; Or (W8 budgeting:
: two months. '\‘Tqﬁam the essentials of successful presy
; . an [
; Suppliers allow a credit period of two months’ (o (by oy TR & afeyard fﬁ&’l‘ﬂlﬂmﬁ @l .a“@)dl )
OWing are the estimated sales in units of
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ages, factory- expenses and admiﬂif’tmuoIl th
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lling eXpenses are paid in the following ‘nﬁo @ Sx Months;:

mag;? % M g &, 80’0;2“{ it Mony Sales in units
GFI.Er 1 S #®t 6 &b L Apri] 10,000
T % R Ao Twe duw AR May 12,000
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July

12,000 . )
August *10,000
.. September 14,000 o

- As a matter of policy the company mai“tainsaésmg
. bal’ancg as follows: - | . ged
g (i) Finisheq gbods: closing stock 40% of the esm |
sales of the next month, | . ated

(i) Raw materiq). closing stock 50% of the estim?
| cOnsumption for ghe next month.
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On consumes 5 kg of raw md ,
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. al .
ing and Margin
Statements based on Ab$°rpﬁ°n (;?;:;;e in profit.
Costing, Explain the reasons for Amount
Particulars 1,200
Ormal Capacity (units) 1,000
Production (units) 800
Sles (unit) . 100
V&liable Manufacturing Cost per Ut 2% of Sales value
Vatiable Selling Gost per unit 60,000
~ Fixeq Manufactuﬁng Cost 1,00,000
 ed Adtninitraive Cost 60,000
Fireg Selling & Distribution Cost 500
Se“"‘& Price per unit
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T &R (3f) 1,200
ST (gfr) 1,000
ey (afr) 800
GRS — 100

T Rfope g 60,000

T Yt = 1,00,000
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6,00,000 units, The selling price per unit is Re, 8
the budgeteq PT unit cost data are as follows: it
Particulars Gopt 5 §
Raw Materia] Cog :

Direct Labour Cogt ;

&r-lable Manufacturing Overhead 4

Variapje Selling Cost :

Fixeq Manufacturing Cost ; 50’000
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Company p,q Teceived a one-time order jtio”

: d
Uiits @22, No selling cost will be incurred bUt;
1.50 per unit will be incurre ) pot”
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(ii) Calculate the total profit of the company if the specia

order is accepted.
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On :
Q 8 Utiye Years (in) : . .
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Sales : First Year 12.30,000
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1,54,000 Wi
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If selling price per unit, variance cost per unit and total
fixed cost remain unchanged, calculate the following:
(@ P/V ratio :

(i) Fixed cost

(iii) Break-Even sales

(tv) Margin of safety in % for first year

(v) Salesto earn 5 profit of Rs. 46,000.
330 73 e Rkt e o e A% R T
o . e
feept 10,00,000 > 12,30,000
gﬁ;,smooo 2,00,000 i
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(a) Explain Zerq Base Budgeting) and its advanta8® |
b T A i ey i A A o
WO. Manufacturing companies, having the *°
OPerating details, decide to merge:
Rs. Lakhs
Pe Comp® .ﬂy
70%

T e
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Particulqrs Company

Copacity Utilisation ~~ 50% 50

fi .
Sales 3 ! Va
480 “5 **UStypes of Responsibility Centres:
8 : "
9

252

Variable Cost 336
Fixed Cost 100 L
Assuming that the proposal will be implemented, calculate

() Break-even sales of the merged plant

(@) Capacity utilization at break-even
(i) Profit of the merged plant at 80% capacity U
(iv) Sales turnover of the merged company to eama profit

of Rs. 84 lakhs. -
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- ®) Pr°d“¢t1°n of Product A requires 2 hours and Produ p '

requires 4 hours, Inamonth of 25 effective days of 8 h;d

E aday, 2,500 units of A and 1,500 units of B me’“;ac
: ThebUdgetedhomswere 1,02,000 hours for the year.

~ Wwere 50 workers in the production department.
Calculate
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® Explain the concept of ‘relevant cost’ an
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Or (m) below:
"erhead expenditure for a period is glven ©ctu
"hculars Budget 6,500 |
DUt in ynges 6,000 3,300
Mﬂlbh()urs 3,000 1,250
Fixed Overhead @) 1,200 6’650
N I‘\: . le'Overhead ) 6,000 26
. 24
Qﬂlcul’at of workmg days
) Fix
iy Ry 0Verhead Cost Variance
('“)P 0‘ltirhead Expenditure Variance

Overhead Volume Variance
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(iv)Fixed Overhead Efficiency Variance ,

(v) Fixed Overhead Capacity Variance

(vi)Fixed Overhead Calender Variance. .
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